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however, allowed to carry original question booklet and
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POLITICAL SCIENCE
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The Classical Tradition in political theory is considered to be a common school of enquiry
because :
(1)  Unity in style and manner of argument
(2)  Unity in themes and style
(8)  Unity in searching the same goal
(4)

Unity in having a common vision for humankind
2. Who described the classical tradition as “Epic theory”?
(1) Isaiah Berlin (2) Karl Popper

(3) Sheldon Wolin (4) Michael Oakeshott

3.  Match List - I with List - IT and select the correct answer from the code given below :

List - I List - II
(Concepts) (Thinkers)
(a) Tacit consent (i) Rawls
(b)  Self regarding and other (ii) Berlin
regarding action
(c) Negative and positive liberty (iii) Locke
(d) Well ordered society (iv) Bentham
Code :
@ () © @
1) @ 6 @) ()
@ G @) @ o
@) O G @ W)
4) (@v) (@) @) (i)

) )
st (1T z
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4. Who feared that Marx’s dictatorship of the proletariat would become dictatorship on the
proletariat ?

(1) Lassalle (2) Proudhon (3) Bakunin (4) Luxemberg

5.  Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer from the code given below :

Assertion (A) :

In spite of the fact that Rawls theory has strong procedural features it can also be seen as a
major contribution to social justice.

Reason (R) :

He is categorical that there is a need for rational justification of all departures from equality.
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

6. Convergence theory pointed out the convergence between :
(1) advanced capitalism and developed socialism
(2) manufacturing nations and raw material exporting countries
(3) national interests in international organizations
(4) need to have common policy to fight climate change

7.  Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer from the code given below :

Assertion (A) :

Lenin’s revolutionary seizure of power is like a coup and negation of Marxism.
Reason (R) :

Marx thought a communist party would capture power peacefully.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

o ]l

) is false, but (R) is true.
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8.  Mao’s most original contribution was in emphasizing the revolutionary role of the :

(1) Proletariat

(2) Intelligentsia

(3) Combination of the proletariat and the peasantry

(4) Peasantry
9.  Who questioned the view that Locke was a defender of the Glorious Revolution ?

(1) Tawney (2) Sabine (3) Macpherson (4) Ashcraft
10. Which political thinker rejects Aristotle completely ?

(1) Machiavelli (2) Hobbes (3) Locke (4) Rousseau
11. Who described Rousseau as a totalitarian democrat ?

(1) Karl Popper (2) Carl Friedrich (3) Hannah Arendt (4) Jacob Talmon
12. Power, not right is the focal point for Hobbes. Why ?

(1) Power is more important than right.

(2) Rights will entail duties.

(3)  There is an inherent conflict between power and right.

(4) Difficult to obtain agreement among individuals.
13. Match List - I with List - IT and select the correct answer from the code given below :

List - I List - II
(Marx’s writing) (Themes)

(a) Paris Manuscripts (i)  Relative Autonomy of the state

(b) Das Capital (ii) Dictatorship of the proletariat

(c) 18t Brumaire of Louis Bonaparte (iii) Surplus Value

(d) Critique of the Gotha Programme (iv) Alienation

Code :

@ ®) © (@

O 6 @ G W)

@ v @) 0 @

@) G @) @ o

@ @ O G G
s T ;
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14. Which of the following is true of Machiavelli’s political theory ?
(a) Idolized Ancient Rome
(b) Used History extensively to draw lessons for state-craft
(c) Private army needed for the success of a prince / ruler
(d) Blamed religion for Italy’s moral regeneration
Choose the correct answer from the code given below :

(1) (a) and (b) (2) (b) and (d) (3) (c) and (d) (4) (a) and (c)

15. How did Gandhi describe himself ?
(1) Philosophical Anarchist (2) Liberal democrat

(3) Social Democrat (4) Communist

16. Which of the following is true of Aristotle’s contribution to comparative method ?

(a) To study the then existing political systems
(b) To develop an empirical science of politics
(c) To arrive at the Ideal type
(

d) To apply abstract ideas in practice
(1) (a) and (c) (2) (a) and (b) (3) (b) and (d) (4) (c) and (d)

17. New Institutionalism emphasises on :

(1) Institutions rather than individuals

(2) A balance between institutions and individuals
(3) A group theory in politics

(4) Economics dominates over politics

18. Easton described his drastic revision in political science in 1969 as :

(1) Counter Reformation (2) Genuine Revolution
Correction to earlier studies (4) Abandoning his own earlier research
a7 \II\II“IN AR ;
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19. The essential framework of liberal political economy was provided by :
(1) Locke (2) Hume (3) Montesquieu (4) Smith
20. What has mainly accounted for the evolution of the unwritten constitution of Great Britain ?
(1) The British practice of following continuity and change peacefully
(2) The British acceptance of conventions as sacred as law but not enforceable in courts
(3)  The British belief that the ‘King can do no wrong’
(4) The common law tradition in Britain
21. In which country the practice of ‘once a speaker always a speaker’ is followed ?
(1) USA (2) UK (3) India (4) Switzerland
22. The Supreme Court’s right to judicial review was first established in :
(1) USA (2) India (3) France (4) Switzerland
23. Inwhich of the following countries individual citizen’s rights have developed by the significant
intervention of the judiciary :
(1) Switzerland (2) UK (3) US.A (4) France
24. Match List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Electoral system) (Countries)
(a) First-Past-the-Post System (i) France
(b) Second Ballot System (i) Germany
(c) Alternative Vote System (i) USA
(d) Additional Member System (iv) Australia
Code
@ ®) © (@
1) @) @) @ 6
@ @ @ O G
@) O @) @) @)
@) G 6 G @
s T 1
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25. Given below are those statements, one labelled as Assertion (A) and the other as Reason
(R). Select the correct answer from the code given below :

Assertion (A) :

The theories of development of the 1950’s like behaviouralism, could never develop an
universally accepted paradigm because they were locally dated.

Reason (R) :

They originated during the Cold War period and consequently biased.
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
@)

(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

26. Political Socialization deals with :
(1) Process of formulating political ideas
(2) Career planning and political socialization

(3) Elaborating the theories of Durkheim

(4) Elaborating the theories of Weber

27. Subject - participatory culture was associated with :

(1) Erstwhile communist regimes (2) Fascist regimes

(3) Post Colonial Societies (4) Non Ideological dictatorships

28.  Who has commented that politics is about diversity and conflict and the essential ingredient
of its existence is scarcity ?

(1) Leftwich (2) Lasswell (3) Crick (4) Millett

29. Huntington criticizes the modernization theory for not taking into account :
(1) Presence of several competing value systems or cultures in traditional society
(2) The difference between base and superstructure
(3)  The question of leadership
(4)

4) Overdeveloped nature of modernizing nations

ranzy [ IRN

12 Paper-II11



25.

26.

27.

28.

29.

T < e el T ¥, T 1 AR (A) 3R T ) deh (R) FE TR A 53 T 5 9w
Wﬂ'ﬁ'ﬁ:
AR (A) :

1950 % T H T & fag a1 FeRraR, THh AEYie €9 ¥ Wied JfaaH & &9 § &
forenfra =761 &1 arn, Hifr 3 T 9 9 Hifhd ©® ™

@ (R) :

ITehT 3QHA T G5 oh QA el a1 IRUTHEY J&Taraqu of |
<< :

1

(A) 3R (R) SH T § 3R (R), (A) T T& TR

(1) )

(2) (A) 3R (R) I T §, T (R), (A) FT T TR T
(3) (A) ¥F B, T (R) 3EH B

(4) (A) T8 €, WY (R) T B

STITeh FHTSITERT 1 HaY ¢

(1) srifaes forami st fafo gfsear 9

(2) HRSR Y A IAM T TSR THTSHRIO H
(3) gEfzH & fagrl 1 fodrR & 9

(4)

9o & TGl o1 foar s 9

SH-9RTeRT Heepfa dafua of
(1) TRl AEmRT e | (2) A W |
(3) W IufERER TS § 4) TR Fgf<e AT 9

g Torgen s § fop Teiifa fafaerdn aen dud & IR § ST 19 39 31 &l STavdesh o< ¢ ?
(1) wwRfa= (2) e @) fwe (4) faee

gfdTea syt fagTa &1 eTeiah © Hiife 30 fagia § eam e W T ®
(1) 9RURek TS | 31en Taefi Hod gonferi qen Heesfad s sufufd s

(2)  SAER q1 AT (GuOgFR) H <R H

(3) I % YT

(4) SRR HTAaTl U o Afd fashfda ey

st (TP ’



30. Who among the following provided an economic approach to elitism ?
(1) Pareto (2) Mosca (3) Mills (4) Burnham
31. According to whom the Indian Constitution aimed at the tripartite goal of national unity,
democracy and social revolution as three distinct strands interwoven into a “seamless
web” ?
(1)  W.H. Morris Jones (2) Rajni Kothari
(3) Granville Austin (4) Sunil Khilnani
32.  Which of the following grounds come within the ambit of reasonable restrictions put by the
state on the exercise of freedom under Article 19 of the Indian Constitution ?
(a) Security of state (b) Public order
(c) Decency or morality (d) Contempt of court
Select the correct answer from the code given below :
(1) (a) and (b) only (2) (a) and (d) only
(3) (), (b) and (©) only (4) (@), (), (©) and (d)
33. Once approved by Parliament for how long can the proclamation of financial emergency
remain in operation ?
(1) 2 months (2) 3 years
(3) Till the term of that Parliament (4) Indefinitely
34. Consider the following statements about the Vice - President of India and select the correct
answer from the code given below :
(a) Elected by the system of proportional representation by a single transferable vote
(b)  Elected by all the members of the Lok Sabha and the Rajya Sabha
(c) Members of State Assemblies have no right to vote
(d) He is the Chairman of the Rajya Sabha
Code :
(1) (a) and (b) (2) () () and (d)
(3) (@) (), © and () (4) (a), (b) and ()
s (TR 1
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(d) o T FHT HT FHUMA B ¥ |

e
(1) (a) 3 (b) 2 (), (o) ¥R (d)
(3) (@) (b), (c) ¥R (d) 4) (), (b) ¥R (o)
ooz | [{ RO 15




35. Arrange the chronological order of the following cases and select the correct answer from
the code given below :
(a) Bandhua Mukti Morcha V. Union of India
(b) M.C. Mehta V. Union of India
(c) ADM Jabalpur V. Shiv Kant Shukla
(d) BALCO Employees Union V. Union of India
Code
1) (© @, (b) (d) 2) (@) (d), (), (b)
(3) (@) (k) @), (© @) (), @) (d), (©
36. Which of the following principles evolved from the judgement delivered in Bommai case in
relation to Article 356 ? Choose correct answer from the code given below :
(a) The proclamation issued under Article 356 is subject to judicial review
(b)  The state Assembly should not be dissolved immediately after issuing proclamation
(c) The Assembly should be dissolved only after the Parliament has approved the
proclamation
(d) The court may require the Union Government to disclose the material on the basis of
which it was decided to invoke Art. 356
Code
(1) (b)and (c) (2) (@) (c) and (d)
(3) (a) (b)and (d) 4) (@) (b) (c) and (d)
37. Justice Punchhi Commission is related to :
(1)  Urban Governance (2)  Union - State Relations
District Administration (4) Electoral Reforms
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35.

36.

37.

frefafed A ol 3T FIcTshiae shH | Hafeyd ife qon i o3 T e 9 Wé ST & T304

(a) Sy e Al oM YR G

(b) TH.HI. Hed SHH IR G

() T TH Jodq o 376 shrd Feored

(d) SRl HHAR H IH WA G

Fe -

1) (9, (@), (b), (d) 2) (@) (d) (), (b)
3)  (d), (b), (a) () @) (), (@), (@) ()

frefafea § @ fa fagrl &1 Safd o7 =98 356 & Hay § armrg ot # fed 7 et 9 g8 § 2
o @ T Fe @ wE W -

(a) STT=IT 356 h AT ST i TE SSHYVN =AT(Fh LRI ok AL 7|
b) T T | ol STEON SIRE RS ST % 918 qRA o 7 TR s = nfed |

(
(c) SHIUN Sl HHE i Tiehid o & g & T fo€M |91 =l T fohan ST =i
(

d) e BRI g R § I8 oM o o el S gkl ¢ foh U fohH STTHR W 317=93 356
W] A 1 Foig foram ©)

ETE
(1) (b) ¥R () () (a) (©) ¥ (d)

(3) (@), (b) 3 () @ (@, (b) (© (@
=rerfd gt st fred Hefya 22

(1) o=l e (2) HE-T Hay

(3) foem wmm (4) TITE gER

st (TP 1



38. Match List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Center’s Accord with) (Year)
(a) Assam (i) 1988
(b) Mizoram (i) 1985
() Tripura (i) 1985
(d) Punjab (iv) 1986
Code :
@ () ©
W) (v @ @ 6
@ @ @) 6 G
@) @ @ @) @
@) O @) @ @)

39. Which committee felt that the Panchayati Raj institutions could have survived well if they
had been encouraged well by entrusting responsibilities as a “vanguard of development in
village India” ?

(1) Asoka Mehta (2) LM.Singhvi (3) GV KRao (4) P.K. Thungan

40. Who was the Chief Election Commissioner who wrote a letter to the President of India
recommending the removal of Election Commissioner ?

(1) Navin Chawla (2) N. Gopalaswami
(3) T.N. Seshan (4) MS. Gill

41. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the code given below :

Assertion (A) :
Law and order is the responsibility of the District Magistrate.
Reason (R) :
Law and order is still one of the major problems in India.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
3) (A) is true, but (R) is false.
4) ) is false, but (R) is true.
v NNV "




38. EIT - I &I Gt - 11 ¥ gafad sifse oik = fed T3 e § wé S| i

39.

40.

41.
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Tt - 1 gt - 11

(% Trsa FSTeh |l e T GHEiT g2 (ad)
(a) oTgH i) 1988
(b) TosiRH (i) 1985
(c) Tgu (iti) 1985
(d) G (iv) 1986
<

@@ (b) (9 (d)
1) Gv) @) @) @
2 @) @Gv) @ ()
®) (@) @ Gv) (@)
4) @ (@) @) (@)

g afafa =1 95 foam o i J=mdt TS St geae < & <ot &l afe arir uRd § fowe &
YT T H I (TSI | Y 3 Tfad €71 § Uredied foram i ?
(1) TR0k Hadl (2) TwawA fgwet  (3) St A (4) W g™

forg g1 gA1a AE 3 YRA & Tegufd sl U forgeht 9A1a STa ol g &t fawifst st off ?

(1)  ellF =reen (2) A TMuerEE (3) A e 4) wwE i

T D wed A T € T I AR (A) 3R T F qeh (R) FE | N I A F2 I
uﬁwgﬁﬁ:
AR IT (A) :
HTA 3R eren forensier ot fe 71
e (R) :
T 3R Saen uRd § o7+t off Uk yE guen o9 g T
<<
(1) (A) 3R (R) IH g T 3R (R), (A) T & TR T |
2) (A) 3R (R) I T T, T (R), (A) 1 HE TR T B |
(3) (A) ¥ ¥, T (R) 319 T
(A) 38 8, WY (R) T4 T
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42. Match List - I with List - IT and select the correct answer from the code given below :

List - I List - II

(State) (State Parties)
(a) Bihar (i) Apna Dal
(b) West Bengal (ii) Indian National Lok Dal
(c) Uttar Pradesh (iii) Revolutionary Socialist Party
(d) Haryana (iv) Lok Janshakti Party
Code

@@ (b) () (d)
O @ @ 6w
@ v @) 0 @
@) @ 6 @ W)
@ O G @ )

43. Who of the following was not a member of the Towards Equality report ?
(1) Lotika Sarkar (2) Neera Dogra
(3) Vina Mazumdar (4) Sushila Nayar

44. Match List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Type of Pressure Groups) (Name of Pressure Groups)

(a) Based on traditional social structure (i)  Associated Chamber of Commerce and
Industry in India

(b) Based on labour interest (ii) Nair Service Society
(c) Based on institutional interest (iii) Delhi University Teacher’s Association
(d) Based on business interest (iv) Hind Mazdoor Parishad
Code
@ () © @
O 6 @) v @
@ @ G @)
@) @ @ O @)
@) @) O @ @)
s TR 2




42, Gt - 1 Gt - 11§ gafad Hifee iR = 53 ™ %2 9 9@ S0 & =999 Hif

et - 1 et - 11

() (T @ia )
(a) fo=R (i) 3T a=
(b) HfT=m ST (i) YN UL A g
() W I (iii) TR defere Tt
(d) =fEmn (iv) oren STeIfeRt dret
<

@@ () (¢ (d
(1) @) @ @ @)
(2) (v) (@) @ ()
3) @@ (@ @) (@Qv)
(4) () (@v) (@) (i)

43. frAfafed § § ®F gagyg sFancrel U & 959 & 92
(1) e ThR (2) e
(3) oM AR (4) GEiE PR

44, G - 15 Gt - 11 9 Gafad wifve iR 99 53 T $e 9 9@ S| g

T - 1 Tl - 11

( ST R T WehTT ) ( SaTe R T AW )

(a) IRURGR G e R AERa () TEfEE Jed Ak MY U $eRl
gfean

(b) aftw fea W emenfa (i) R |fdq g
(c) HEINTd fad W eAemia (iti) Teoell faafaeme™ fuaer @9
(d) =HerETge fed T ARa (iv) &g 7eiqR aftwg
<< :

@@ () (9 (d
1 @ @) Gv) (@)
(2) (@) (v) @) @)
3) () (@) (@) ()
4 (@(v) @) @) (i)

eonzr7 [ IR RUAAR 1




45. Which of the following are the main problems of nation building in India ? Select the correct
answer from the code given below :

(a) Poverty

(b) Illiteracy

(c) Trade Unions

(d) Corruption

(e) Regional Political Parties

(f)  Terrorism

Code :
1) (@), (b), (e), () 2 (@), (©, @), (o), (©)
3)  (a), (b), (d), () 4)  (b), (d), (e), ()

46. Which of the following are the models of reforms identified by Peters as alternatives to the
traditional public administration ?

(a) Market Model

(b) Participatory State Model

(c) Flexible Government Model

(d) Deregulated Government Model

Select the correct answer from the code given below :
(1) (a) and (b)

(2) (a) and (9

(3) (@) (¢) and (d)

, (b)
[l

4 @

, (c) and (

d)
HIHETHA 2

s |



45. frafafaa 8 wra # e i w5t e gaed s €2 9 for U ge § 9 98 W H 9o
HIFTT :

a)

b)

d)

)

(
(
(©)
(
(
(f)

<< :

(1)
(3)

[EERI
e
TSIl T
YRTAR

& TSTHIfae g

46. fr=fafea § @ 9 FF9 gur gfaam € St ded 3 e e weme & fasedl & &9 8
e i off ?

(a)
(b)
(©)
(d)

EISERIGEIR

TATERT STenfia Tog gfaa

T TR FfdHqH

fafafaa TR 9faaqe

1= foU TTT e H 9 W& I /I FIT HY

1)
(2)
(3)
(4)

N-00217

(a) 3R (b)

(a) 3 (o)

(@), () 3R (d)
(a), (b), (c) 3 (d)
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47. Arrange the following administrative thinkers in chronological order :
(a) Willoughby
(b) M.P. Follet
(c) F.W.Riggs
(d) Robert Dahl
Select the correct answer from the code given below :
(1) (b), (), () and () ) (@), b), (@) and (d)
(3) (), (), (©) and (d) 4 (@), (© () and (d)
48. Who among the following gave the 4P - Formula for departmental Organisation ?
(1) Fayol (2) Urwick (3) Gulick (4) Mooney
49. Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R). Select the correct answer from the code given below :
Assertion (A) :
Herbert Simon has ridiculed the classical theory of organisation as a machine model theory.
Reason (R) :
Classicists are too much preoccupied with the formal structural part of organisation and
that too at the cost of human factors.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
50. Which of the following statements is not correct about the Right to Information Act ?
(1) The Right to Information Act came into force on 12 October 2005.
(2) The Freedom of Information Act, 2002 has been repealed.
(3) The Official Secrets Act, 1923 has also been repealed.
(4) Central Information Commission and State Information Commissions have been
constituted.
s TR 2




47. TrAfafea ywwmafis foaei = sy 3 Faferd sifay .
(a) focrsit
(b) THL. HicE
(c) Th.esy, fo™
(d) T =B
1= foU 7TT e H Q@ W AT /I FIA HY
(1) (b), (a), (d) ¥R (0) ) (@), (), () IR (d)
(3) (), () (o) ¥R (d) 4) (@), (@), (b) IR (d)

48. Trfafea § 9 feea fayurfta dweq & foau 4 f-wigen fean?
(1) 2 Hfaw (3) Tferw 4

49. 9 weE A T €, T F Afrwed (A) IR A Ak (R) FET TN TR A MW HR A I
F@Wﬂﬁﬁﬁﬁ:
AFR&HA (A) :
TS UIEHA A WIS o G fagra &1 T a3 gfaam fagia & &9 # faceh Sk 21
e (R) :
SMEFATETE] TS & iq=niier amTeHs YT & Ui Tid doeii= &d § IR 3 98 HHe SReh &
HITd W HW ¢ |
e
1

A) T (R) <1 W@l € 3R (R), (A) T FE TR S

A) TS (R) SHT & €, A (R), (A) T FE T T8 2|
A) TE , AR (R) TTerd 1

A) T4 ¥, AR (R) & 21

2

1
)
3 (
) (

50. oA 1 SR Afufm & R # fefafed § & o1 o w9l TE> © 2
(1) 1 1 STfepr sTfafam 12 STRqeR, 2005 i @1 g3 |
(2) = Tasan s, 2002 fFRE = fen e 7
(3) IR TroerEar stfufTem, 1923 0 off fRe faman T )
(4) =TT A SN TR I G TR Rl fed foman ¥

st (TP s




51. 73'4 Constitutional Amendment provided for :
(a) Constitutional status to rural and urban bodies
(b) Three - tier system for all Panchayati Raj Institutions
(c)  Direct elections of Chairpersons and members of Panchayati Raj Institutions at all levels
(d) Audit of panchayat funds by CAG
Select the correct answer from the code given below :
(1) (b) only (2) (a) and (b) only
(3) (@) (b) and () (4) (a), (b) and (d)
52. The Central Information Commission consists of the Chief Information Commissioner and
Information Commissioners :
(1) not exceeding three in number
(2) not exceeding five in number
(3) not exceeding seven in number
(4) not exceeding ten in number
53. Who among the following said, “Development administration is an action - oriented and
goal - oriented administrative system” ?
(1) FE.W. Riggs (2) Edward Weidner
(3)  Ferrel Heady (4) H. Walker
54. Which of the following are the voluntary provisions of the 73'4 Constitutional Amendment
Act 1992 ?
(a) Providing reservation for backward classes
(b)  Setting up a State Finance Commission
(c) Making the Panchayats autonomous bodies
(d) Giving the Panchayats financial powers in relation to taxes, fees, etc.
Select the correct answer from the code given below :
(1) (a) and (b) (2) () () and (d)
(3) , (b) and (c 4) (@), (c) and (d)
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51. 739 Gfa9 HeieA | e & E ©
(a) T TE IRA TR 1 Haenfe <si
(b) TS TS R G Heensl o fore e e
() Humd TS % weft TR W ereAedl 3R wewd v g g
(d) 0 (Frw T Herere Tiars) g d=rd & bl sl o e
= feu T e § @ W W AT
(1) e (b) (2) FA (a) A (b)
() (@), (b) ¥ (o) ) (a), (b) ¥ (d)
52. Sheid GOl SR H Y& Yo ST SR Gl ST B €, TS
(1) Tend= g tfus T Bt T
(2) T urE g sfusw T e ¥
(3) e | ¥ s T e
(4) Hea w9 Afys 7 It T
53. fr=fafe & 9 feas Far - ¢ fosmma wemes T wef-3-Et iR Seea-3-gat yemd e e g2
(1) UThsy, fow (2) TeaE faew
(3) ™ gl (4) TE. G
54. 739 dfgum gened afufram, 1992 ¥ frafafaa § 4 wad Wfess gayE € 2
(a) TUSe ol >l STRETT YSH HLAT
(b) T fod ST it TMOAT AT
(c) U=l ! TEE R oA
(d) U, T 3T o FaY | daral ol foxiia SR UeH &
= fou T e # F W@ I g
(1) () 3R (b) (2) (b, () R (d)
(3) (a), (b) IR (o) 4) (@), () ¥R ()
ooz [ HEEARNEAIN 2




55. Match List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(a) Hota Committee (i) Centre - State Relations
(b) Santhanam Committee (i) Civil - Service Reforms
(c) Sarkaria Commission (iii) Prevention of Corruption
(d) Yashpal Committee (iv) Higher Education Reforms
Code
@ ®) © (@
O O @ @) )
@ @ @@ 6 @)
@) @) O @) @)
@ W @ 0 G
56. Promotion to higher position involves :
(a) Change of title
(b) Change of pay
(c) Change of duties
(d) Change of responsibility
Select the correct answer from the code given below :
(1) (a) and (b) only (2) (b) and (c) only
(3) (), (0 and (d) 4) (), (b), (c) and (d)
57. The process by which the selected candidate is sent for an appointment is known as :
(1) Selection (2) Appointment (3) Certification (4) Placement
58. Defending policy is the function of :
(1) Line agency (2) Staff agency
Auxiliary agency (4) Both Staff and Line agencies
S 11T 17T




55. Gt - I &l Gt - 11 9 gAfad &ifae ok 9= fed 70 % § 9 ' s g -

56.

57.

58.

T - 1 gt - 11
(a) I |k (i) HE-TH Gy
(b) Herw gfHfd (i) Tafoa Gen § gur
(c) SR A& (il) YRTER i JhHAH
(d) @ wfHfd (iv) = e & gum
e

@ (b) (9 (d)
1 @ @) @) (Gv)
2) @) @) @ G
®) @) @@ @) (@)
(4) @v) (@) (@ (i)

I Ie W g # gffed ©
(a) U ¥ 9REdH
(b) aad H ufEda

(c) hdsAl H aRad

(d) STeFE H aRed

= QU 7T Fhe & 9 T S| A1 T HIT
(1) ke (a) 3R (b) (2) e (b) 3R (o)
(3) (a), (o) &R (d) 4) (@), (), () IR (d)

a8 HiAE! gfRan € 9% gR1 T =it SEiear 1 fgfaa & fore gemen 9w S §

(1) == 2 frfw (3) TR

e =1 s=ma Frfafaa § @ frgs = -

(1) <A Teidt (2) VIR Teidr

(3) HeEEH Teid! (4) I TS IR AR ToHtw Sl
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59. Who among the following are the critics of the bureaucratic theory ?
(a) Talcott Parsons (b) Michel Crozier (c) Robert Presthus (d) F.W. Riggs
Select the correct answer from the code given below :
(1) (a) and (b) only
(2) (b) and (d) only
(3)  (b), () and (d)
4) (@) (b), (c) and (d)
60. Who among the following rejected the politics - administration dichotomy ?
(1) Woodrow Wilson (2) Frank Goodnow
(3) Herbert Simon (4) Robert Merton
61. Who was of the opinion that survival depends on a state’s material capabilities and its alliances
with other states ?
(1) John Mearsheimer (2) Kenneth Waltz
(3) Thucydides (4) J. Snyder
62. Consider the following statements :
(a) Neo realism and neo liberalism are rationalist approaches
(b) Neo realism and feminism are reflectivist approaches
(c)  Post - structuralism and neo liberalism are rationalist approaches
(d) Feminism and post structuralism are reflectivist approaches
Select the correct answer from the code given below :
(1) @and®) (2 () (@and(d) (3) (), (B)and(d) () (a)and (d)
63.  Which of the following statements are true about soft power ?
(a) Soft power can be used by state actors
(b) Soft power can be used by non state actors
(c) Soft power is the second face of power
(d) Soft power is a form of idealism
Select the correct answer from the code given below :
(1) (a) (b) and (d) (2)  (b), () and (d)
b) and (c 4) (0), (d) and (a)
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59. frafafad # & &F et fagia & srerEes € 2
(a) <TCTRIC U (b) WEHA HIER () VR IR (d) ThHI=g, ¥
1 T 7T e § W W& IW A1 =TI HIGT
(1) % (a) 3 (b)
(2) e (b) R (d)
3) (b) (o) IR (d)
@ (@), (b) (©) R (d)
60. Tr=fafed § 9 fhem TsHifa-wemed fg 9sH @l s1%alieha foham o1 ?
1 FUfaem (29 FFETEE Q) T W (4) T 7
61. 3T fhget fomm o fof ‘ Saxsifoar Tsa i fifaew amdr qen o= Tl @ 3@t ditrl w R et
gl
(1) <9 THEsR (2) Y A (3) HfueEed (4) . =EEX
62. Tr=fafed wudl W fo=R ST
(a) T FeefEE S 79 SSNAR qehdfGaal SUNH € |
(b) T IR 3R TR SFfeaTarel IUH T |
() TW-TTEEIE T 79 ISR qehefgiiel SUNH © |
(d) TRIER IR IW-HEAER STHfa<HaRt S € |
T e T % ¥ WE W g
(1) (a) ¥R (b) @ @ ©@IM@D @) @ OIRE @ (@ MR
63. Tr=fafed § 4 #i9-9 Fo 79 vfed & IR H @& €2
(a) T WIS T SUANT I3 Heliail gRI Rl ST Hehell T |
(b) -5 Ve 1 ST TR T Hatsll gRT foram T wehe 7
() T8 vIfe wIfer o1 ST Heleh T
(d) 5 v TR 1 Th &9 ¢ |
T S T Fe ¥ W W g ¢
(1) (@), (b) 3R (d) (2)  (b), () R (d)
(3) (a), (b) 3R (o) 4) (0 (d) 3R (a)
oz [ RN s




64. Which one of the following is not a Kantian influence that acts as a constraint on War ?
(1) Democracies will refrain from using force against other democracies
(2) Economically important trade creates incentives to maintain peaceful relations
(3) Global civil society exerts itself
(4) International organisations can constrain decision makers by promoting peace
65. Find out the incorrect statement/s about Johan Galtung’s models of conflict, violence and
peace :
(a) He suggested that conflict could be viewed as triangle with contradiction, attitude and
behaviour
(b) He talked of structural, cultural, direct and indirect violence
(c) He discussed about peace building, peace making and peace keeping
(d) He explained about direct war, proxy war and Intrastate
Code :
(1) (a) and () (2) () and (9
() (a) and (0 (4) (), (b) and (0
66. Match List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(Authors) (Books)
(a) Stephen Kraser (i)  Empire of Civil Society
(b) J. Rosenberg (ii) From international to World Society
(c) E.M. Wood (iii) International Regimes
(d) Barry Buzan (iv) Empire of Capital
Code
@ (® (9 (9
1 @) @ @O @)
(2) (@) @& @) ()
) (iV) (i @ ()
(4) (i) (v) (i)
s .




64. Trafafaa & @ o sic & fagral 1 999 T8 § S g R 9701 & T4 H H Har &2
(1) ks 3T Tlehc=l < %G el o1 JAT H § TR h |
(2) oM 9 | Aewayel AR wifaqel Heei i aE WA H Yredred s i w6 2
(3) df¥ere IR AN T JIH I B |
(4) TN TS Wifd i sgren e o fFmfarsti 1 frifa o wed €1
65. gerd, fEan qen wifd o an H SR Mergd o Y™ o ok H Terd wel | fo=ar S -
(a) =iA gemd fean foh deod 1 weR fadiy, Aegia qen sreeRr & e & €9 H <61 S ehd1 € |
(b) IR WA, Hihiaeh, Toaal T Agcael e &t =md 1 |
(c) =i wnifa fwfor, wifa werw wd wrifa & =6t ==l =i |
d) 3R T 3, BCH g5 IR STU-T4 g5 i AT il |
< :
1) () () () () 3 ()
(6) (a) R () (4) (@ () TR ()
66. e - [ I Gt - 11 § gfora &g i) = i@ 70 e 9 w&@ S| g -
e - 1 et - 11
(@ ) (aer)
(a) TR HW () TERR 3w fafae deEd
(b) . TSR (i) T TRLIAA 2 dos drEmEel
) 3T IS (i) FELAIAA g
(d) o e (iv) THEPR 3 Hived
<<
@@ (b) (9 (d)
1) @) @@ @ @)
(2) @) @) @v) (i)
(3) (iv) () (@) (i)
@ () (@v) (i)
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67. Which one of the following pair is mismatched ?
(1) World or Global Security - World community or human kind
(2) Societal Security - Societal needs
(3)  Economic Security - Welfare
(4) Environmental Security - Resources
68. Which of the following have emphasis in India’s nuclear deterrent :
(1) Large numbers and deterrent force
(2)  Nuclear parity and capability to retaliate
(3) Small numbers and capability to deter
(4) Deterrent force and nuclear parity
69. Consider the following statements about National Security Council (NSCI) of India :
(a) It's a three tier organisation consisting of strategic policy group, joint intelligence
committee and National Security Advisory Board.
(b) Ministers for External Affairs, Defence, Home, Finance and Commerce are its members
(c) It was formed in the year 1998
(d) The former National Security Advisers were Brajesh Mishra, J.N. Dixit, K.P. Singh.
Select the correct answer from the code given below :
(1) (d) (9)and (@) (2) (a)and (b) () () (d)and (b) (4) (a)and (d)
70. Which one of the following is/are incorrect statement/s :
(a) The ‘Neemrana Dialogue’ is on India - China Relations
(b) The ‘Ottawa Dialogue’ is on India - Pakistan Relations
(c) Shangri-La Dialogue is on India - Singapore Relations
(d) Raisina Dialogue is India’s flagship conference of geopolitics and geoeconomics
Code
(1) (a), (b) and (©) (2) () (0 and (d)
(3) (a) and (9 (4) (c)and (d)
s T y




67. Trafafed & & sH-w1 g9 gafea T €2

(1) 9 AR @ed g - fova 9qg@ ste@n 9ma Sfd
(2) EHEISIT GeaT - TENE STEvEd

(3)  TfeieR gram -

(4) TATEROT & - HoOrEd

68. Trfafad ¥ ¥ forue gaTa WA 1 9Ty Sfe e | € 2
aferen HeeA e e i

TRHTY] FHAAT 3R GfdehR A i &7

¥ A a1 TR I I &

TeIeR st e 9TATY] HHHAT

(1

)
()
(3)
(4)
69. HRT i T &7 IRug (T TH f 7)o aR ¥ fH=fafed sweHl W faar S -

(a) 9% U - ged € food amfe ifa aqg, 9gea g afafa qon asda gran
TARHR SIS e |

(b) Tocwr =R, an w5, 8 A, foam w3t qen Ao HAf g9k W B

(c) THh! TTAT I8 1998 H i g off |

(d) T8 T TR FARHR o - oo g, SLuA dfera, 0. fow

= ¥ T Fe 9 W W I

(1) () @@ () ()R (b) B3) @ (@ (B) @) (2R (d)

70. frafafead & @ F @ we o /8?2
(a) ‘rROT ATl Rd-=H HeE % fama # T
(b) ‘freren Sl YRA- e dadi o foma § 2
(c) TIE st YRA-feamR el & famg # T
(d) T ST o TSI e o stefeaEen & fqua § YRd 1 R T S

<< :
(1) (a), (b) 3R (o) 2 (), (o) IR ()
(3) () ¥R (0) (4) (o) ¥R (d)
ooz | [{ RO .




71. Consider the following statements about India’s role in United Nations. Which of the
statements are correct ?
(a) India is a major contributor to UN Democracy Fund
(b) Indian delegation to San Francisco Conference of 1945 was led by Vijayalakshmi Pandit
() In 2001, India piloted a draft comprehensive convention on International Terrorism
(d) India submitted along with other countries an Action Plan for phased elimination of
nuclear weapons 1996 - 2020
Select the correct answer from the code given below :
1) (@ (9and(d) (2) (a) (b)and(c) (3) (a)and (d) (4) (9) and (d)
72. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :
Assertion (A) : States continue to exist as sovereign states.
Reason (R) : Globalization has weakened the Westphalian state system.
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (R) is true, but (A) is false.
73. Match the List - I with List - IT and select the correct answer from the code given below :
List - I List - II
(a) Wassenaar Agreement (i) Stopping spread of chemical and
biological weapons
(b)  Australia Group (i) Non proliferation of nuclear weapons
() Nuclear Suppliers Group (iii) Exportcontrol for conventional arms and
dual use technologies
(d) Missile Technology Control Regime (iv) Non proliferation of systems intended for
the delivery of WMD
Code :
@@ () (o (d)
1 @ @ G (@)
(2 @) @@ @O )
G) @Gv) @) @) ()
@ @) (@) (@) @)
s | T 5




71. G Uz 9 ok Ge H ANa A yfFent & fomg § frefafed sl ® faem & s 9w 9
FUT T §?
(a) R T T ke (T4 1 Y@ 9= S
b) a9 1945 % ¥ HI-aEh! T | IRAT gfafafy ded o1 Agc foasaasHt dfed =3 foman o
¢) a9 2001 H 9RA 7 ANAL 3Gehale R Tk THT o SAh - JEY I A IO fohaT |
d) YRG A 3 T F WY TRUEG Tk W WA RN H FH HA Ht HE AT -
1996 - 2020 &I < |

3 feit T e T W W g
1) (@, @33IMd (2 @ bARE @) (@) iR (d) 4) (o) ¥R (d)

(
(
(

72. = A FHeA fed T E, TH H Uk (A) 3R T A ek (R) FHE T | A A T Fe F W
waﬁgﬁﬁ:
AR IT (A) :
T o1l off TPy T & &9 H formm ¥
e (R) :
ST T LRI T JUlTelt HHIR g8 < |
<< :
(1) (A) 3R (R) IH T € 3R (R), (A) T & TR T |
2) (A) 3R (R) TH T T AR (R), (A) T T& TT<THRT 7
3) (A) §F ¥, fehd (R) 379 2|
(4) (R) 9 ¥, AR (A) 39 B |

73. eI - [ &I Gt - [1 9 gafad & 3R A= 8 T e | 98 3T &1 99 &

el -1 gl - 11
(a) AR HHET (i) AR e Sifaeh SfERi % THR S Al
(b) sTefern g (i) TLATY] BIORIRT 1 STIER
() —afeieR TEd 9 (i) ARFITR B qe Wit 3 SRl SN
EaRERICRCREREL|
(d) &I YrEnfiTeRt i Srawen (iv) Erfeeh fortrer et Bferam <l gyerit &g Jomed!
T STIAR |
<< :
@@ (b) (9 (d)
1) @) @ @) ()
) (@@ @@ @ @)
®) (@(v) @@ @) @
4) (@) @) @) @
eonzr7 [ IR RUAAR .




74. Which one of the following statements is incorrect ?
(1) New Development Bank is a multilateral development bank established by BRICS
(2) Asian Intrastructure Investment Bank is an initiative of China

(8)  WTO recognises least developed countries as those which are designated as such by
UNO

(4) International Finance Corporation offers political risk insurance and encourages private
sector development in developing countries

75. Consider the following statements with regard to Security Council :
(a) India became member of Security Council seven times
(b) Japan became a member of Security Council eleven times
(c) It appoints non permanent members
(d) It appoints Secretary General
Select the correct answer from the code given below :

(1) (a) and (b) (2) (b)and () (3) (b)and (d) (4) (d) and (a)

-00o0-
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74. Trefafed § 9 &9 o o E@a B2
(1) =g SaaTHe S foad Ui gR1 Tnfud T a5 vafia faem de 71
(2) TREH THREFR THEH S =9 & TIME ¥ T T o ¥

(3) fova =R Wed (T 3 o) 3 <N i waifush 3Teu fashfad e i’ Y e §
9= G g e A TEn AEifgee fhe ¥
(4) A faq frm fowmesia o § TeHifaes SifEd oM UeM &l § qon e &3 &

foehT =1 GIcETE YeH hidl B

75. &l aReg o Hey H fefafed sl T foaem S
(a) WA Y& IREE s HSEI HId o) o1 |
(b) ST &M qREg i He&d TRE SR o |
() IT STl TS I fgaa it 7|
(d) =g wHerEfee w1 e w7
= f¥ ™ Fe 9 W@ W I
(1) (a) 3R (b) (2 (b) () (3) (b) 3 (d) (4) () ¥R (a)
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